Formula stoichiometry problems
1 mole = 6.02 x 1023 molecules
71.0 g of Cl2 = 1 mole

58.5 g of NaCl = 1 mole

32.0 g of O2 = 1 mole



Using dimensional analysis, do the following conversions.  Make sure you show all work.

1. 5.4 g of NaCl to moles

2. 9.67 g of Cl2 to moles

3. 4.9 moles to molecules

4. 53.64 mol of gas to molecules

5. 100.1 g of O2 to atoms of O
6. 2.5 g of NaCl to molecules

7. 60.6 mol of gas to molecules

8. 5.43 x 10 24 molecules to moles

9. 6.723 x 10 25 molecules to g of Cl2
10.  1278 kg of gas to mol of O2
